
In 1123
, need a third vector and a way to measure

how I " lifts off
"

the osculating plane .

Assume Kcs) to ,
so hits ) is well - defined . Let

b- Is) =

the binormal vector
-

to I at s.

Notes :

• b- (s) and

a-

• 15cal -- its

,

Ils) X Ils) .

1- Ils) b- (s) tints) .

I are;
-
-



2-

-

I f y

I
×

{ Els) , its) , Bls) } is a serret-fyetframe.to I at s.
A

[a.k.a , adapted orthonormal{ moving frame

Note: change of Bls) should measure
"

lifting
"

of I from

osculating plane determined by Elst and tics) .
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